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(m) ® RIEF | Z 0
OB 22 53,010 2,223 2,034 189
E OB 23 53,010 2,125 1,958 167
T R 24 53,010 2,039 1,875 164
EORK 25 54,012 2,015 1,853 162
EORK 26 54,350 2,029 1,872 157
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(m) AB(a) (b) (b a) (m®) (FM)
T gk 22| 555303 18,679 69,749 56,870 815 6,067,373 1,502,694
F gk 23] 556,994 19,085 69,223 57,749 834 5847443 1,421,096
E gk 24| 558357 19,133 68,725 57,582 838 5809837 1424688
E Bk 25| 561,730 19,388 68,241 57,867 848 5812495 1415435
T OB 26 563,277 19,667 67,819 57,870 85.3 5,782,647 1,411,576
& KER
F1CEKEERIIASIBRE,
F2TERREBAAOFEREARERAOD,
50 FTAKEDORKR
(BEEED
WX WERIFAITRRIBROAERERN| FRAAD | TREY [KELEN LEKE
HE#E (ha) F# AB() | AB(b) (c) (b a) (c/b) | (m®/8)
T R 22 167.6 2,185 68,617 5,872 3,470 8.6 59.1 1,263
F A 23 1845 2,687 68,169 6,391 3,581 9.4 56.0 1317
F oAk 24 1878 2,689 68,725 6,413 3,682 9.3 57.4 1,409
F K 25 1918 2,799 68,241 6,502 3,754 95 57.7 1,729
T RE 26 198.2 2,934 67,819 6,517 3,922 9.6 60.2 1,737
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1MTHR = EKE - TKE -
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(BEES)
WEXE | LEXEFEA | LEXIERN EAADO EREY WIEKE
E7& (ha) Fi# A (a) (b) (b a) m®8)
o 22 48 588 2,189 1,542 70.4 657
O 23 48 597 2,218 1,557 70.2 779
oK 24 48 608 2,238 1,546 69.1 771
Oom 25 48 613 2,228 1,552 69.7 685
£ R 26 48 659 2,309 1,602 69.4 678
(B8
T I th X 30 440 1,533 1,101 718 550
EM@A R 18 219 776 501 64.6 128
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